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1(Sem-1) STA

( Descriptive Statistics and Probability-I)
Full Marks : 45
Time : 2 hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions : 1x5=5
OO ZHPTRY Bl frm ¢

(@) Which of the following does not
represent the empirical relationship
between mean, median and mode ?

TS GIERS (FIBIE NI, T SIS 250
ol Sfcweifefer 7o afoREy do@?

(i) Mean-Mode = 3 (Mean - Median)
Y — J=F = 3 (ML — L)
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(i) Median = 3 (2 Mean + Mode} .

ﬂw=%(2ma}+zrw)

(iii) Mode =3 Median—-2 Mean
IEE =3 A - 2 WG

1 :
(iv)] Mean = 5 (8 Median + Mode)

A = — (3 FGAF + ITTH)

4
2

(b) ldentify the scale/scales- of
measurement which allow ranking of
observations.

(B! / (PR AT TR

e SEEte e oare w4 |

(i) Nominal scale, Ordinal scale and
Interval scale
AEHS AT, FARATPS Tofs o
BIESIDIRI ke

(i) Ordinal scale, Interval scale and
Ratio scale
TAALRISS o/, TJLR Mo
TATS A2
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(d)

(i) Ordinal scale only
(T FATF Mol

(iv) Interval scale only
(P LI o

What is it called when the source of

data is collected and compiled by
others ?

O B (S| <9 711 3H63)f3 Wi Aeplare
T O & @i e

(i) Primary data
PRIACK)
(i) Secondary data
CoTiel )y
(i) Tertiary data
TOR “HTT Y
(iv) None of the above
87I] OIS =T
Which of the following is the arithmetic

mean of the first n even natural
numbers ?

oS TCHR® (T €A A5l A egples
TR AT [y ?

n+1l

i —
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(i) n(n; )

(iv) n(n+1)

(e) Three fair coins are tossed together.
What is the probability of getting 2
heads and one tail ?

S5 emferers at e 31 &1 201 19
i 9Ol SRR (ARE TSIkl /e

2. Answer any five from the following
guestions : 2x5=10

o T I S e R ¢

(a) Name four methods of collecting
primary data.

2] 2 W b0 orafes wl o)

(b) Distinguish between Questionnaire and
Schedule.

PSS SRR ofiefa forat |

(c) The variance of the first n natural
numbers is 10. Find n.

T bl AIFFOF ALYE &= 10 | rig Wi el
%4 |
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Distinguish between frequency curve
and frequency polygon.

ARKIRTS! TG I qRITO! ITGEH A1 el |

Write the formula for the combined
variance of two sets of observations.

7ol for w1t Wi Wy epReR !
ey |

(/) Show that variance is not affected by
change of origin but affected by change
of scale.

(TSR (@ PR T ARST 79l ereifds w7
g o7 sfRadTa art eeiie =7 |

(99 The median of the following frequency
distribution is 25. Find the frequency
corresponding to class interval 10-20.
woTe M3l ALl A6 W4pA 25, (ATFrst
10-20% Ri<Sice A<t fFm 27 ey |

CL (®R) :  0-10  10-20 20-30  30-40  40-50
Frequency : 2 ? 10 i 3
IRl
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(h) Let n dice be thrown. Find the

mathematical expectation of the sum
of the points on them.

wnﬁiqg@ﬁsﬁwqwfﬂlq%ﬁs@%ﬁ
GoS ST WA @hiweE Siifdfes erept
fefa =01

A box contains 6 tickets. Two of the

other four tickets carry a prize of Re. &
each. If one of the tickets is draWZ
randomly, what is the expected valug
of the prize ? \

<bl ARFBS 661 bFe wTg | O 1R 2ire@ |

T5R T Rs. 5. I fF 51F0[ atom@
BoRF T Re. 1. I bl s amgfiamreia

Al B, (0% TR N eroifie W R
Tq?

() @) E(X)=12 and (i) var(X)=9,
then find ((o(% Sfeat) B (2x +3) and
(B1) var(2X + 3).
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3. Answer any four from the following

questions :

5x4=20

SO IR gl Siiphle ed T ¢

(@)

(@)

Write a detailed note on Ratio Scale of
measurement of statistical data.

SEINRISEE wa AT WP golge «fp
e ot i
Write a brief note on the general

rules for construction of frequency
distribution.

AARITS] 959 Wfioq AT ey iR
RorRPTIRa 9ome a6 53 Gt B

Show that standard deviation is always
greater than mean deviation about
mean.

(A2 NS e ) G T e o e ) e < e

ot smiw ©leq 21|

The arithmetic mean of the following
distribution is 1-5. Find the values of

fo and f;.
OoTd IO NG AT 1-5. f OF £33 W
el 11

X 0 1 2 3 4 5 Total(YH)
Frequency : 45 f, f; 25 10 5 250
BESIE
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(e) Write a note on the point of concern

(9)

that should be kept in mind while
framing a questionnaire or schedule.

2SI A SPH 1 AES RIS Tl
ARLITSITRY o aft (Gt &

The duration of life (in hours) of an
electric bulb is assumed to follow a
continuous distribution with p.d.f.

@ 25 GOl Ryl 5if6 Gmar (35re) «fp
wif{Bed 9 SRFe I T AT, (p.d.f) T

f(x)=—; 1000 < x <1500

Find (ﬁ‘fﬂ 40) -
(i) The value of ¢ (c3 WiW)

(i) P(X21200)

Suppose a die is thrown. Find the
probability of getting either an even
number or a number greater than 4 or
both.

g @ft Tuel Wowe T 251 G5 3o TR
T2l G5 piffecs e A T oS
(AR eifel WefE i |
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(h) The probability that a high school

1
student being male is 3 and that being

2
female is 3 The probability that a male

student completes the course

7
successfully is 10 and that a female

4
student does it is -5- . A student selected

at random is found to have completed
the course successfully. What is the
probability that the student is female ?

R CRELIGEE] ﬁ’ﬁﬁﬁiﬂﬁsﬂﬁ oot B9 @R
TS T % wiF Qa1 @RI T8RSl T4

%i T YT TETONE AT NG T
TSl 2 o I < DI R TSR
Mﬁa@ﬁm%aﬁfﬁ@s@mﬁamww

Wwﬁ’amr@mﬁmﬂﬂw
W[Wﬁmﬁﬂﬁﬁm'@m ol

e ?
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4, Answer any one from the following | (c) For n events Aj, Ag,..., A, prove that—

questions : 10 51 SO Ay, Ag,..., A3 AT e T @—
ol eRPTEA Rl @bie Ted W g
(a) Write a note on presentation of (i) P[Q A,.ngl:P(A,-)—(n—l)
frequency distribution. Explain how
histograms can be drawn with data R o
from— (i) P[q AEJSZI P(4)

(i) discrete variable, and ;
(d) Let a random variable X has the p.d.f.

Q1 <51 AP b Xq AHF. A

(ii) continuous variable.

TN AT AR R @sz%m s
@ Rz v, o f(x)=cx(x-2);0<x<2
(i) wIRMEA 5oa o ™, Find (FF )
©2 (o1 BEhg ST 2ol Qg el ‘- L (i)  Arithmetic mean
(b) Compute the measure of skewness and. . W i
s R lostog o
e AR A RO 3 s 35w v (iii) Mode
R E O | |t TF
CLo i ¥ 812 13T 182 BY %y g /eo/)‘f R iv) Harmonic mean
R / ¢/ v ) AN A
:_‘;:%:;ncy ;2 8 10 12 9 ¢ 3’.\% l\ P
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